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#1. M FAK (RS KB RR AfE NG4S A R BUE
oA W H Hfr LA 45 51 64 7H 8H 9A 10A 11A 127 A 21 3H
B B H — — R6.4.24 R6.5.8
FEROELNT-H - — R6.5.15 R6.5.20
ERARE R ms/m — 29.6 16.2
WAk A4 mg/0 — 10.7 12.1
TNV IKER mg/0 |BEhARNZE - -
TRk ER mg/0 0.0005LL - -
HRIT A mg/0 0.003LL - -
Ea mg/0 0.01LLF - -
a(iZa=0N mg/ 0 0.02LLF - -
e mg/0 0.01LLF - -
BTV mg/0 |BHEhRnE - -
R 7 ==L mg/0 |REhRnCE - -
NZ7opnxzFL mg/0 0.01LLF - -
Th77unxF L mg/0 0.01LA T - -
D A=1=5.2 7 mg/ 0 0.02L4F - -
ML R mg/0 0.002LL - -
1,2—yrmaxiy mg/0 0.00424 - -
1,1—=Y/rpxFL mg/0 0.1LLF - -
1,2—Y7mpxFlL mg/0 0.04LLF - -
1,1,1—R)omaxg mg/0 1LLF - -
1,1,2—Nzonzgy mg/0 0.006 L T - -
1,3—Y7nurmy mg/0 0.002L4 T - -
FIT L mg/0 0.006LL - -
D mg/0 0.003LL T - -
FF_UBNT mg/0 0.02LLF - -
B mg/0 0.01LAF - -
L mg/0 0.01LLF - -
1,4— VA% mg/0 0.05LLF - -
V4=1=ht p mg/0 0.002LL F - -
FEROELNT-H - - - -
HAFL R pg-TEQ/0 1T - -
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#2. 1 FAK CFHiE ) K ETRR A NG4S A R BUE
oA W H Hfr LA 45 51 64 7H 8H 9A 10A 11A 127 A 21 3H
B B H — — R6.4.24 R6.5.8
FEROELNT-H - — R6.5.15 R6.5.20
ERARE R ms/m — 36.8 36.9
WAk A4 mg/0 — 11.8 11.9
TNV IKER mg/0 |BEhARNZE - -
TRk ER mg/0 0.0005LL - -
HRIT A mg/0 0.003LL - -
Ea mg/0 0.01LLF - -
a(iZa=0N mg/ 0 0.02LLF - -
e mg/0 0.01LLF - -
BTV mg/0 |BHEhRnE - -
R 7 ==L mg/0 |REhRnCE - -
NZ7opnxzFL mg/0 0.01LLF - -
Th77unxF L mg/0 0.01LA T - -
D A=1=5.2 7 mg/ 0 0.02L4F - -
ML R mg/0 0.002LL - -
1,2—yrmaxiy mg/0 0.004LLF - -
1,1—=Y/rpxFL mg/0 0.1LLF - -
1,2—Y7mpxFlL mg/0 0.04LLF - -
1,1,1—R)omaxg mg/0 1LLF - -
1,1,2—Nzonzgy mg/0 0.006LL T - -
1,3—Y7nurmy mg/0 0.002L4 T - -
FIT L mg/0 0.006LL - -
D mg/0 0.003LL T - -
FF_UBNT mg/0 0.02LLF - -
B mg/0 0.01LAF - -
L mg/0 0.01LLF - -
1,4— VA% mg/0 0.05LLF - -
V4=1=ht p mg/0 0.002LL F - -
FEROELNT-H - - - -
HAFL R pg-TEQ/0 1T - -
KEAEAFRO NI E | BEAHCIZFEHA B K OZEDONE
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3. KA E M A R RI6HES H R BIE
B & HE B HLAT FEEfE 4] 54 6] 74 8J1 951 104 114 12H 1A 2f 3f
B I H — — R6.4.24 R6.5.8
fEROELNH — — R6.5.15 R6.5.20
T IV KE LAY mg/0 |[BtiEninze - -
IKER O T V3 )V IKERE DD KSR LA mg/0 0.0005LL F - -
HRIY LR NEDILEY) mg/0 0.01LAF - -
SR OZFDILA mg/0 0.1LF - -
BB LAY mg/0 |BtEnmnce - -
ANtz e b & mg/0 0.02LLF - -
MEROZEDILEY mg/0 0.05LL F - -
T ALEY mg/0 |#iishinzy - -
RUE(kE 7 2=L mg/0 |REhsnCe - -
INP=1=E=C 2 mg/0 0.1LLF - -
Th77unxFL v mg/0 0.1LAF - -
DY A=i=5 % % mg/0 0.20LF - -
PG R mg/0 0.02LLF - -
1,2—y/anax i mg/0 0.04LLF - -
1,1 —Y/ppxFL mg/0 1LLF - -
L A-1,2-Y/upTFL mg/0 0.4LLTF - -
1,1,1—R)maxg mg/0 3LLF - -
1,1,2—RM)/mpxg mg/0 0.06LL - -
1,3—Y7nnrny mg/0 0.02LL F - -
FIT L mg/0 0.06LLF - -
D mg/ 0 0.03L4 F - -
FF_UHNT mg/0 0.2L0L°F - -
B mg/0 0.12LF - -
LU R OEDILEY mg/ 0 0.1LF - -
1.4~ %Y mg/0 0.50LF - -
1EH3E K NZFDILEY) mg/0 10LLF - -
5o PEDILEW mg/0 8LLF - -
TUEST, TR MEA Y, BRER LA B OB A% | mg/0 100LLF - -
KFEAZ WL OKFEHED — 5.80 1-8.6LLF 7.2 7.3
AL BE SR ER mg/0 2000 <0.5 <0.5
(bR RE R & mg/0 160LL T 5.4 6.0
il E & mg/0 40LLF 1 9!
IS E SR e (B S ) mg/0 3LLF - -
N F R S R (B IEE A A ) | mg/0 5LLF - -
T/ NVEEA & mg/0 0.5LLF - -
e AR mg/0 1LLF - -
ik g Y mg/0 1L F - -
RS S A & mg/0 5LLF - -
AR~ G & mg/0 5LLF - -
VA=Y p mg/0 0.5LLF - -
KIGHEREEL 18/ cnit 300024 - -
EXREAE mg/0 — 0.9 1.0
WEa = mg/0 — - -
Uik A4 mg/0. — - -
BROGLN-H — — - -
FAAFL S pg-TEQ/0 10LLF - -




